
1) 54.5 + 34.9

Answer: ____________

2) Find the mean of the following set of data:

0.9, 0.9

Answer: ____________

3) 72 + 44

Answer: ____________

4) 73% of 22

Answer: ____________

5) (-47) + (-24)

Answer: ____________

6) 7/1 + 4/2

Answer: ____________

7) 34 ÷ 2

Answer: ____________

8) 100 + (-34)

Answer: ____________

9) 15/3 + 19/4

Answer: ____________

10) 240 ÷ 20

Answer: ____________

11) Find the mean of the following set of data:

1, 19, 10

Answer: ____________

12) 93 + 18

Answer: ____________

13) Convert the following improper 
fraction 31/2 + 23/4 into a mixed 
number

Answer: ____________

14) 82 - 69

Answer: ____________

15) Convert the following improper 
fraction 61/5 + 11/2 into a mixed 
number

Answer: ____________
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16) 96% of 46

Answer: ____________

17) 96% of 16

Answer: ____________

18) Convert the following improper 
fraction 62/6 + 62/10 into a mixed 
number

Answer: ____________

19) 15 + 68

Answer: ____________

20) 1% of 10

Answer: ____________

Total: ___ / 20
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Answers:

1) 89.4 2) 0.9 3) 116 4) 16.06 5) -71 6) 90/1 7) 17

8) 66 9) 93/4 10) 12 11) 10 12) 111 13) 61/4 14) 13

15) 77/10 16) 44.16 17) 15.36 18) 128/15 19) 83 20) 0.1
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